
Wie groß sind die Summen?
Notiere zu jeder Rechnung den Überschlag.

a 462 + 1'565  = 2'027

b 5'007 + 819  = 5'826

c 6'348 + 4'309  = 10'657

d 68 + 2'237  = 2'305
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Wie groß sind die Summen?
Notiere zu jeder Rechnung den Überschlag.

a 574 + 2'072  = 2'646

b 2'006 + 3'811  = 5'817

c 5'829 + 73  = 5'902

d 9'499 + 553  = 10'052
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Wie groß sind die Summen?
Notiere zu jeder Rechnung den Überschlag.

a 876 + 6'595  = 7'471

b 5'345 + 68  = 5'413

c 6'107 + 987  = 7'094

d 7'323 + 4'240  = 11'563
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Wie groß sind die Summen?
Notiere zu jeder Rechnung den Überschlag.

a 592 + 6'485  = 7'077

b 75 + 3'054  = 3'129

c 6'278 + 629  = 6'907

d 8'371 + 3'240  = 11'611
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